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BOOKS - MAXIMUM PUBLICATION

STRAIGHT LINES

1. Find the slope of the lines passing through
the points

(3,-2) and (-1,4)


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_j1jdUeKO4ll4

° Watch Video Solution

2. Find the slope of the lines passing through
the points

(4,-5) and (2,1)

° Watch Video Solution

3. Find the slope of the lines passing through
the points

(0,-2) and (4,3)

| e |


https://dl.doubtnut.com/l/_j1jdUeKO4ll4
https://dl.doubtnut.com/l/_T7ds5vH9yutp
https://dl.doubtnut.com/l/_vYqwu0min4lv

& Watch Video Solution I

4. Find a point on the x-axiswhich is

equidistant from the points (7,6) and (3,4)

o Watch Video Solution

5. Find the value of x for which the points (x,-1),

(2,)and(4,5) are collinear.

° Watch Video Solution



https://dl.doubtnut.com/l/_vYqwu0min4lv
https://dl.doubtnut.com/l/_n46VL5CDvysG
https://dl.doubtnut.com/l/_YHYOJqyRyGpu
https://dl.doubtnut.com/l/_hL3sEG6C6bYY

6. Line through the points (-2,6) and (4,8) is
perpendicular to the line through the points

(8,12) and (x,24).Find the value of x.

° Watch Video Solution

7. Find the equation the following lines
satisfying the given conditions.

passing through the point (-2,3) with slope -4.

° Watch Video Solution



https://dl.doubtnut.com/l/_hL3sEG6C6bYY
https://dl.doubtnut.com/l/_84Anc45NCuf7

8. Find the equation the following lines
satisfying the given conditions.

1
passing through the point (-4,3) with slope 7

o Watch Video Solution

9. Find the equation the following lines

satisfying the given conditions.

1
Line with y-intercept — ) and slope B

o Watch Video Solution



https://dl.doubtnut.com/l/_95LldihACSkP
https://dl.doubtnut.com/l/_y1fGzYnEsrzt
https://dl.doubtnut.com/l/_hzzJql0m1KyM

10. Find the equation the following lines
satisfying the given conditions.

Line with x-intercept -3 and slope -2.

o Watch Video Solution

1. Find the equation the following lines
satisfying the given conditions.
Line which makes intercepts -3 and 2 on the x-

and y-axis respectively.

° Watch Video Solution



https://dl.doubtnut.com/l/_hzzJql0m1KyM
https://dl.doubtnut.com/l/_xkPXq0naFOIh

12. Find the equation the following lines
satisfying the given conditions.

perpendicular distance from origin is 5 units
and the angle the perpendicular makes with

the positive direction of x-axis is 30°.

o Watch Video Solution

13. Find the equation the following lines
satisfying the given conditions.

passing through the point (-1,1) and (2,-4).

| & |


https://dl.doubtnut.com/l/_gLi4XCOI8LYD
https://dl.doubtnut.com/l/_xKslk9U1Whis

| ¥ Watch Video Solution |

14. Find the equation the following lines
satisfying the given conditions.

passing through the point (1,-1) and (3,5).

o Watch Video Solution

15. Find the equation of the line passing
through the point (-3,5) and perpendicular to

the line through the points (2,5) and (-3,6).

o Watch Video Solution



https://dl.doubtnut.com/l/_xKslk9U1Whis
https://dl.doubtnut.com/l/_uhh8Iu40xTcR
https://dl.doubtnut.com/l/_oikLYtTwcP3f

16. Find the equation of the line that cut off
equal intercepts on the coordinate axis and

passes through the point (2,3)

o Watch Video Solution

17. P(a,b) is the mid-point of a line segment
between axis. Show that equation of the line is

T
Z 1229
a+b

o Watch Video Solution



https://dl.doubtnut.com/l/_oikLYtTwcP3f
https://dl.doubtnut.com/l/_es97oWiP4NLB
https://dl.doubtnut.com/l/_AHwaQgQQPQf1

18. Find the slopex-intercept and y-intercept of
the following lines.

3z —4y+10=0

o Watch Video Solution

19. Find the slopex-intercept and y-intercept of
the following lines.

6x +3y—5=0

o Watch Video Solution



https://dl.doubtnut.com/l/_AHwaQgQQPQf1
https://dl.doubtnut.com/l/_pfMydFTNW0zq
https://dl.doubtnut.com/l/_Kp0PH5T48gj9

20. Find the slopex-intercept and y-intercept
of the following lines.

dr — 3y = 6

o Watch Video Solution

21. Find the distance between the parallel

lines.

3r —4y+7=0and3z —4y+5=0

o Watch Video Solution



https://dl.doubtnut.com/l/_Nx3lC5m9KGch
https://dl.doubtnut.com/l/_L2FiXSumpkb6
https://dl.doubtnut.com/l/_OSh5kOMex4BK

22. Find the distance between the parallel
lines.

152 + 8y — 34 = 0and 30z + 16y + 62 = 0

o Watch Video Solution

23. Find the distance between the given point
and the line.

Line 3x — 4y — 26 = 0 and point (3,-5)

o Watch Video Solution



https://dl.doubtnut.com/l/_OSh5kOMex4BK
https://dl.doubtnut.com/l/_KHYoo6l7ylKm
https://dl.doubtnut.com/l/_yvDMUoIyMnzN

24. Find the distance between the given point
and the line.

Line 12(z 4 6) = 5(y — 2) and point (-1,1)

o Watch Video Solution

25.Find the equation of the line parallel to the
line 3z — 4y + 2 = 0 and passing through

the point (-2,3).

o Watch Video Solution



https://dl.doubtnut.com/l/_yvDMUoIyMnzN
https://dl.doubtnut.com/l/_g6vLR6QQy8xC

26. Find the equation of the Iline
x — 7Ty + 5 = 0 perpendicular to the line and
having

x-intercept 3.

° Watch Video Solution

27. Find the new coordinates of point (3,-4) if

the origin is shifted to (1,2) by a translation.

o Watch Video Solution



https://dl.doubtnut.com/l/_qe78z2KEdhR0
https://dl.doubtnut.com/l/_R5CnXnrmvC6D
https://dl.doubtnut.com/l/_JlBs4KOiq3Ux

28. Find the equation of the line passing
through the point (2,2) and cutting off

intercepts on the axis whose sum is 9.

o Watch Video Solution

29. The perpendicular from the origin to a line
meets it at the point (-2,9),find the equation

of the line.

o Watch Video Solution



https://dl.doubtnut.com/l/_JlBs4KOiq3Ux
https://dl.doubtnut.com/l/_Fiex33kklRJX
https://dl.doubtnut.com/l/_G3NKrQ0dD5gq

30. Reduce the following into normal form.

V3z +y—8=0

° Watch Video Solution

31. Reduce the following into normal form.

3x +3y—1=0

o Watch Video Solution

32. Find the angle between the given lines.

y— 3z —5=0and3y—z+6=0


https://dl.doubtnut.com/l/_G3NKrQ0dD5gq
https://dl.doubtnut.com/l/_uxZpU0mjGDGN
https://dl.doubtnut.com/l/_iwA8K2VF88eY

° Watch Video Solution

33. Find the angle between the given lines.

3z — 2y + 9 = 0 and 2x+y-9=0’

o Watch Video Solution

34. Find the transformed equation of the
straight line 2z — 3y + 5 = O,when the origin
is shifted to the point (3,-1) after transiation of

axes.

| e |


https://dl.doubtnut.com/l/_iwA8K2VF88eY
https://dl.doubtnut.com/l/_C8izij50wXGN
https://dl.doubtnut.com/l/_Q5zbDfR06Ptv

& Wwatch Video Solution I

35. Find what the following equations become
when the origin is shifted to the point (1,1)

2’ +xy -3y —y+2=0

° Watch Video Solution

36. Identify the figure in which the line has a

positive slope.


https://dl.doubtnut.com/l/_Q5zbDfR06Ptv
https://dl.doubtnut.com/l/_Uaw6mC39TJ9Y
https://dl.doubtnut.com/l/_WAxvMZ5lxUGv

B. Lo

C. ¥

D. s’
Answer: B

o View Text Solution



https://dl.doubtnut.com/l/_WAxvMZ5lxUGv

37. Find the x and y intercepts of the line

3z +4y—12=0

° Watch Video Solution

38. Consider the linedx — 3y +12 =0
Find the equation of the line passing through

the point (1,2) and parallel to the given line.

° Watch Video Solution



https://dl.doubtnut.com/l/_fmeTZxx1Rdp7
https://dl.doubtnut.com/l/_lJiOLcaysjtc

39. Consider the linedx — 3y + 12 =0

Which among the following lines s

perpendicular to the linedx — 3y + 12 =0

A2r+3y—8=10

B.dr —3y+5=0

Cxt+y=717

D.3z +4y+9=0

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_EV0x6OCe3ZhJ

40. Find the slope of the line joining (-2,6) and

(4,8).

o Watch Video Solution

41. Write the equation of y-axis.

o Watch Video Solution

42.Find the distance between the lines

8r + 15y —5=0and 8x + 15y + 12 =0



https://dl.doubtnut.com/l/_K4ny2bjGOB7g
https://dl.doubtnut.com/l/_wJVjWuAl9GRE
https://dl.doubtnut.com/l/_vXlhn1qT6qzZ

o Watch Video Solution

43. The vertices of A ABC are A(2,1), B(-3,5)
and C(4,5).

Write the coordinates of the midpoint of AC.

o Watch Video Solution

44. The vertices of A ABC are A(2,1), B(-3,5)

and C(4,5).


https://dl.doubtnut.com/l/_vXlhn1qT6qzZ
https://dl.doubtnut.com/l/_pJ3HjLGCEXF8
https://dl.doubtnut.com/l/_y9b2MhzDHGPU

Find the equation of the median through the

vertex B.

° Watch Video Solution

45. Find the slope of the straight lines
V3z+y=1z+,3y=1

Also find the angles between them.

° Watch Video Solution



https://dl.doubtnut.com/l/_y9b2MhzDHGPU
https://dl.doubtnut.com/l/_dWrKwlsoDOQs

46. The vertices of A ABC are A(-2,3), B(2,-3)
and C(4,5).

Find the slope of BC.

o Watch Video Solution

47. The vertices of A ABC are A(-2,3), B(2,-3)
and C(4,5).
Find the equation of the altitude of A ABC

passing through A.

° Watch Video Solution



https://dl.doubtnut.com/l/_pPmyAzYKrIac
https://dl.doubtnut.com/l/_L1p6juRBgBzE

48. Find the slope of the line joining the

points (2,2) and (5,3).

o Watch Video Solution

49. Find the equation of the line joining the

points (2,2) and (5,3).

o Watch Video Solution



https://dl.doubtnut.com/l/_L1p6juRBgBzE
https://dl.doubtnut.com/l/_raYJPnBIz1BI
https://dl.doubtnut.com/l/_8KOw1vJjjIc3

50. If two lines are parpendicular, then the

product of their slopes is.........

o Watch Video Solution

51. Find the equation of the line parallel to
x —2y+3 =0 and passing through the

point (1,-2).

o Watch Video Solution



https://dl.doubtnut.com/l/_jiZE57Tbe7wA
https://dl.doubtnut.com/l/_UAIG99mbf3Vs

52. Consider the line joing the points P(-4,1)
and Q(0,5)
Write the coordinate of the line passing

through the midpoint of PQ.

o Watch Video Solution

53. Consider the line joing the points P(-4,1)
and Q(0,5)

Find the equation of the line passing through


https://dl.doubtnut.com/l/_VUfJr5mI6Msd
https://dl.doubtnut.com/l/_sFpD16NIsGlF

the midpoint of PQ and parallel to the line

3r —4y+2=20

° Watch Video Solution

54.Find the slope of the liney = 2z — 3

° Watch Video Solution

55. Find equation of the line which makes
intercepts -3 and 2 on the X and Y axes

respectively. Find its slope.


https://dl.doubtnut.com/l/_sFpD16NIsGlF
https://dl.doubtnut.com/l/_bTn8Tr6RZx2z
https://dl.doubtnut.com/l/_d48dmMp4CuA9

° Watch Video Solution

56. Consider the lines 2z — 3y + 9 = 0 and
2 —3y+7=0
Find the distance from the origin to these two

lines.

o Watch Video Solution

57. Consider the lines 2 — 3y + 9 = 0 and

2r — 3y + 7 = 0 Find the distance between


https://dl.doubtnut.com/l/_d48dmMp4CuA9
https://dl.doubtnut.com/l/_5xNI3uqswZ26
https://dl.doubtnut.com/l/_dS99OcFZR7TM

these two lines.

o Watch Video Solution

58. Find the slope of the line d + % =1

a

o Watch Video Solution

59. If the lines joining the points and are

perpendicular (0,0),(1,1) and (2,2),(4,y) find y.

° Watch Video Solution



https://dl.doubtnut.com/l/_dS99OcFZR7TM
https://dl.doubtnut.com/l/_Z8suHbPdC56B
https://dl.doubtnut.com/l/_MbOuAmFlAXRg

60. Find the slope of the line through the

points (5,-1) and (6,4).

o Watch Video Solution

61. Find the equation of the line through (5,-1)

and (6,4).

o Watch Video Solution



https://dl.doubtnut.com/l/_SfdOWJByNBaF
https://dl.doubtnut.com/l/_TTWqHNZ9eB76

62. Find the slope of the line joining the points

(3,-1) and (4,-2).

° Watch Video Solution

63. Find the angle between the positive x-axis

and the line joining the points (3,-1) and (4,-2).

o Watch Video Solution



https://dl.doubtnut.com/l/_HE8a8qTrle7y
https://dl.doubtnut.com/l/_MwQ4Vwy8dG3S

64. Find the equation of the line joining the

points (3,-1) and (4,-2)

o Watch Video Solution

65. Find the point of intersection of the lines

2r+y—3=03xz —y—2=0

o Watch Video Solution



https://dl.doubtnut.com/l/_3GY13aot1NU1
https://dl.doubtnut.com/l/_X7DiHeukK2sK

66. Consider thelinex +3y — 7= 0

The slope of the line is.........

o Watch Video Solution

67. Consider thelinex + 3y — 7= 10
Find the image of the point (3,8) with respect

to the given line.

o Watch Video Solution



https://dl.doubtnut.com/l/_oMlTwvwG5GWd
https://dl.doubtnut.com/l/_3dD5q6pVYytE

68. Find the slope of the line

3z —4y+10=10

o Watch Video Solution

69. Find the equation of the line passing

through the points (1,3) and (5,6).

o Watch Video Solution



https://dl.doubtnut.com/l/_YelItZSqHLo2
https://dl.doubtnut.com/l/_kjgEVpaI804u

70. Find the equation of the line parallel to
x—2y+3 =0 and passing through the

point (1,-2).

o Watch Video Solution

71. Find the slope of the line passing through

the points (3,-2) and (-1,4).

° Watch Video Solution



https://dl.doubtnut.com/l/_xCKAUmtgywIE
https://dl.doubtnut.com/l/_5zSodLxWrCOn

72. Find the distance of the point (3,-5) from

theline3x —4y — 26 =0

o Watch Video Solution

73. Consider the equation of the line
3r —4y+10=0
Find its

Slope.

o Watch Video Solution



https://dl.doubtnut.com/l/_ESgfD8iQvcnY
https://dl.doubtnut.com/l/_1VwcKmAc3m1y
https://dl.doubtnut.com/l/_goq8omGIYcCv

74. Consider the equation of the line
3r —4y+10=20
Find its

x and y intercepts.

o Watch Video Solution

75. Find the equation of the line passing

through (4,2) with a slope 2.

o Watch Video Solution



https://dl.doubtnut.com/l/_goq8omGIYcCv
https://dl.doubtnut.com/l/_7ySAzn5YR34i
https://dl.doubtnut.com/l/_QQBJ7SqWP43S

76. Find the equation of the line passing

through the two points (1,-1) and (3,5).

° Watch Video Solution

77.Find the angles between the lines

y—+/3x—5=0and3y—z+6=0

o Watch Video Solution

78.Slope of the line L:2x + 3y + 5 = O is.


https://dl.doubtnut.com/l/_QQBJ7SqWP43S
https://dl.doubtnut.com/l/_XoP6Vf7p6Wkr
https://dl.doubtnut.com/l/_AgarnagrcISr

Answer: B

o Watch Video Solution

79. The slope of the line passing through the

points (3,-2) and (7,-2) is.....


https://dl.doubtnut.com/l/_AgarnagrcISr
https://dl.doubtnut.com/l/_wYBk99Ek7dHl

B.2

C.0

D. 1

Answer: C

o Watch Video Solution

80. Reduce the equation 6x + 3y — 5 = O into
slope intercept form and hence find it slope

and y-intercept


https://dl.doubtnut.com/l/_wYBk99Ek7dHl
https://dl.doubtnut.com/l/_f7IGGiDIHETi

° Watch Video Solution

81. Find the point on the x-axis which

equidistant from the points (7,6) and (3,4)

o Watch Video Solution

82. Reduce the equation 3z + 4y — 12 =0

into intercept form.

° Watch Video Solution



https://dl.doubtnut.com/l/_f7IGGiDIHETi
https://dl.doubtnut.com/l/_7h6L3OZ4cFMO
https://dl.doubtnut.com/l/_5vprDJcon3Wi
https://dl.doubtnut.com/l/_gy7qLHfssgck

8. Consider the straight line3x +4y +8 =0
What is the slope of the line which is

perpendicular to the given line.

° Watch Video Solution

84. Consider the straight line
3z +4y+8 =0
if the perpendicular lines passes through (2,3)

from its equation.

o Watch Video Solution



https://dl.doubtnut.com/l/_gy7qLHfssgck
https://dl.doubtnut.com/l/_UBsCSRnRezKM

85. Consider the straight line3z +4y + 8 =0
Find the foot of the perpendicular drawn from

(2,3) to the given line.

o Watch Video Solution

86. Find the equation of the line passing

through the points (3,-2) and (-1,4).

° Watch Video Solution



https://dl.doubtnut.com/l/_gH0jNg25TtIq
https://dl.doubtnut.com/l/_dl2kjyejs4sR

87. Reduce the equation /3z +y— 8 =10

into normal form.

° Watch Video Solution

88. If the angle between two lines is % and

slope of one of the lines is E,ﬁnd the slope of

the other line.

° Watch Video Solution



https://dl.doubtnut.com/l/_j3EeQQb9o9t5
https://dl.doubtnut.com/l/_dZijst9eT7Ze

89. The slope of a line 'L;' making an angle
135° with direction of the positive direction of
X-axis Is.....

A1

B. -1

C.v/3

D. —/3

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_rHekmqaRLsuy

90. Find the equation of a line passing
through the intersection of z +2y—3 =0
and 4z — y + 7 = 0 and which is parallel to

Kz + 4y — 20 = 0.

o Watch Video Solution

91. Which one of the following pair of straight

lines are parallel?

Az —2y—4=0,2x3y-4=0

B.z — 2y — 4 = 0, x-2y-5=0'


https://dl.doubtnut.com/l/_8JC18u7rHk1Q
https://dl.doubtnut.com/l/_nk5h9MuVWm4B

C.2z — 3y — 8 = 0, 3x-3y-8=0'

D.22z — 3y —8 =03z —2y—8 =0

Answer: B

° Watch Video Solution

92. Consider the equation of the line
3r —4y+10=0
Find its

x and y intercepts.

o Watch Video Solution



https://dl.doubtnut.com/l/_nk5h9MuVWm4B
https://dl.doubtnut.com/l/_i2i3bshocpHO

93. Find the equation of the line perpendicular
to the line = — 7y +5 =0 and having x-

intercept 3.

o Watch Video Solution

94. Which is the slope of the line

perpendicular to the line with slope — E?


https://dl.doubtnut.com/l/_i2i3bshocpHO
https://dl.doubtnut.com/l/_ftI1RSCAQugA
https://dl.doubtnut.com/l/_jCtaufgHSdVl

N
Wl | w

o

Answer: D

° Watch Video Solution

95. Find the equation of the line intersecting
the x-axis at a distance of 3 units to the left of

origin with slope -2.

° Watch Video Solution



https://dl.doubtnut.com/l/_jCtaufgHSdVl
https://dl.doubtnut.com/l/_1p5nBaPPPtow

96. Assume that straight lines work as the
plane mirror for a point,find the image of the

point (1,2) in thelinex — 3y +4 =20

o Watch Video Solution



https://dl.doubtnut.com/l/_HdJyorgt2kSW

